
Supplement to mounting instructions for Sunvisors made for Lazer LED-bars

A

NOTE! Applies only to vehicles with fi tted roof bars.
Completely unscrew the center bracket (A) from the cab by uns-
crewing the M6 bolts (1) in both the upper and lower bracket moun-
tings on the cab (5). Save the bolts and sealing washers. Reinstall the 
bracket in the upper mount with one of the saved existing M6 bolts (1) 
through the bracket (2), followed by two washers (3) and fi nally the 
saved existing sealing washer (4). Repeat on the lower mount, but 
with three washers followed by the sealing washer (3).

1

4

2

5

3

1.  Existing M6-bolt
2.  Existing bracket (center) 
3.  Washer M6 20x1.2
4. Existing seal washer 
5. Cab wall

NOTE! Valid only on vehicles with Lazer LED-bar.
Screw the LED-bars (9) to the fastening iron to the LED-bar with the 
supplied screw connections as shown in fi gure 1, enclosed in the box 
with the LED bars. Then screw the brackets in place by passing the 
hexagonal screw (1) with washer (2) from the front of the Sunvisor 
through the holes (5, 6, 7 and 8) as shown in Figure 2. On the back, 
thread on another washer (2) and tighten with an M6 lock nut (5). Pull 
the Y-cable (2) through hole (1) and connect the connectors from the 
LED-bars (2) and (3) to the Y-cable (2). Tighten the wiring with cable 
ties according to (A, B, C and D) in fi gure 2.

1 2 3A B C D

1.  Hexagon screw M8x25 mm
2.  Washer 8,4x24x2 mm
3. TruckStyle Sweden sunvisor
4. Bracket
5. Locking nut M8
6.  Hexagon screw (In Lazer package)
7. Spring washer (In Lazer package)
8. Washer (In Lazer package)
9. LED-bar

51 2 2

8

7

6

3 4

4

Figure 1. Figure 2.

5 6 7 8

Included mounting kit for Lazer LED-bars

9

*LED-bars and Y-cable only included with article number 8011/8012

Complement to 3190 - for vehicles with roof bars and Lazer LED-bars
Mounting instruction for DAF Sunvisor XG, XG+ and XF. From 2023-

3191

TruckStyle Sweden AB
Order: order@truckstylesweden.com 
+46 (0)70 007 9876
truckstylesweden.com

Pos Name: Art no: Pcs

1 Sunvisor for DAF prepared for Lazer 311 1

2 Lazer Linear kit*
(A) Lazer Linear 18 LED-bars
(B) Y-cable

8011/8012 2
2
1

3 Mounting kit for Lazer
(C) Bracket, left Lazer for Volvo
(D) Bracket, right Lazer for Volvo
(E) Hexagon screw M8x25 mm
(F) Washer 8,4x24x2 mm
(G) Locknut M8

2101 1
2
2
4
8
4

417 (R) 416 (L
)

417 (R
) 416 (L
)

C

3

D

A
B2

G
E F


